Tutorial to reset the Wolfram Variables

In this tutorial, we will show how to reset the wolfram variables back to their initial values.
This is required when you have made changes to the value of one or more variables by moving
sliders and want to go back to the initial value of all the variables.

As an example, we will use LEP-T12-2 wolfram code in Chapter-12

Step 1: Open Wolfram LEP-T12-2 using CDF player. A tutorial to open the Wolfram code
LEP-T-12-2 can be found here http://umich.edu/~elements/5e/live/chapter12/T12-3/12-

2tutorial.pdf

You should see a screen like this.
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(+Table T12-2 Computer Experiments)

Differential equations.

1 d(Ta)/&(W) = Usrho*(T-Ta)/(mc*Cpeoof

7' K = 100" (exp(Hr/1.987%(1/303-1/T)))
8 Foo=5

9 thetal = 1

10 Cpl = 40

1 cpa=20

12 thetad = 1

13 cps = 20

14 co=03

15 €2 = 25000

16 Xe = ((thetab+1)"Kc- (((thetaB+1)"Kc)"2-4*(Kc-4)" (Kc*theta8))0.5)/(2* (K4
17 k = 004" exp(Ea/1.987°(1/310-1/T))

18 yoo = 1/(14thetaBsthetal

19 C20 = yoo Qo

20 sumcp = (thetal™ Cpl+CpA+thetas ™ Cpe

21 Ca = C20*(1-X)"p"To/T

22 Cb = Cao"(thetad-X)*p"To/T

23 Cc = Cao"2°X"p"To/T

24 12 = -k"(Ca"Cb-Cc2Kc)

25 Qg =ra"nr

26 Qr = Uarho™(T-Ta)
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Step 2: Vary some of the variables of your choice. As an example, let’s move the slider of Fao,
thetal, and CpB as shown below. You will see that the graph has changed as per new value of

the variables.
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Differential equations
1 4(Ta)/d(W) = Uarho®(T-Ta)/(me"Cpeool)

2 d(p)/d(W) = -alpha/2*(T/Te)/p

3 A(TYA(W) = (Varha™(Ta-T)+{-ra)"(-Hr))/(Foo" sumcp)
4 a0ayd(w) = -rafFao
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17 k = 004" explEn/1.987*(1/310-1/T)) CpB 0 1000 2000 3000 4000
18 ya0 = 1/(1+theta+thetal)
19 Cao = yoo"Clo Cto I

20 sumcp = (thetal™Cpl+CpA+thetas = CpB)
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Step 3: To reset the variables to their initial values, click on “+” button present on top right
corner of the graph (shown below). This will open up a menu from where you need to select
“Initial Settings”. This will change the value of all the variables to their initial value.
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Step 4: After you click on Initial settings, you will see that the values of variables have been
reset to their initial default value as shown below. Remember that “Initial settings” will reset
all the variables.
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(+#Table T12-2 Computer Experiments)

Differential equations
1 d(Ta)/8(W) = Uarho™(T-Ta)/(mec"Cpcool)

2 d(p)/a(W) = -alpha/2*(T/To)p

3 A(TV/AW) = (Uarho™(Ta-T)+(-ra)"(-Hr))/(Fao" sumcp)
4 dpO/A(W) = -rafFso
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1 He = -20000 Uarho I
2 ophs = .0002
3 To=3% mc I
4 varho = 0.5
§ mc = 1000 Cpme I 1.0
6 Cpoool = 18
( » 08
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16 Xe = ((thetab+1)"Kc- (((thetaB+1)*Kc)"2-4*(Kc-4)" (Kc"theta8))~0.5)/(2*(Kc4))

17 k = 004" &xp(Ea/1.987*(1/310-1/T))
18 yoo = 1/(1+thetaBsthetal)

19 C20 = yao Q0

20 sumcp = (thetal™ CpI+CpA +thetasCpe)
21 Ca = C20*(1-X)"p"To/T

22 Cb = Cao™ (thetad-X)"p"To/T

23 Cc = Cao"2"X"p"To/T

24 ra = -k"(Ca"Ch-Cc2/Kc)

25 Qg = ra"Hr

26 Qr = Uarho™(T-Ta)
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Step 5: As an exercise, try changing other variables and then reset the variables values



